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i Isz:|z+§|,wherez=»x+iy,i=\/—_1,
then the locus of z is a pairof :
(a) straight lines
(b) rectangular hyperbolas
(¢c) parabolas
(d) circles
2. If1l+3'+5'+ 7+ ..+ 199! is divided by 24,
what is the remainder ?
(@ 3
(b) 6
@
@ 9
3. What is the value of Jm + JI—Z_—_& ;
wherei= /-1 ?
(a) 24
(b) 25
© 52
@ 5(v2 -1
1
4. If A=|2|, then what is the value of
3
det(I + AA’), where I is the 3 x 3 identity
matrix ?
(a) 15
(b) 6
@ ' 0
d -1
DFTK-S-MTH
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(3-A)

If A, B and C are square matrices of order 3
and det(BC) = 2 det(A),
value of det(2A~!'BC)?

then what is the

(a) 16
(b 8
() 4
d 2

+5

If the n*® term of a sequence is , then

what is the sum of its first 140 terms ?

(a) 2840
(b) 2780
() 2920
(d) 5700

Let A be a skew-symmetric matrix of order 3.

What is the value of

det(4A%) — det(3A3) + det(2A2) — det(A) + det(-I)

where I is the identity matrix of order 3 ?

(a) -1
() 0
(.. SR
d 2
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(@ a, b3 c APH 2
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0 3 4 1
t + . . 1
8. JEA =l 3 0 5 - then which one of the 11. Let -tl’ t2, t3 o be m GP. Wh.at 18 (t1t3 &y t21)1

-4 -5 0

equal to ?
following statements is correct ?
(a) th
(a) A? is symmetric matrix with det(A2) = 0. ik
(b)- 7t
(b)  A? is symmetric matrix with det(A2) # 0. 20
(c). A2 is skew-symmetric matrix with © tp
A%)=0.
det(A*) =0 . @ tfl
@) A? is skew-symmetric matrix with
2
R T 0. 12. Which one of the following is a square root of
200 R oo
9. IfA=|0 3 0|, then which of the following ;
(a) 1+
0 0 4
tatement t7 . o
statements are correct ? 2
1. A" will always be singular for any e
+1
positive integer n 7
2. A" will always be a diagonal matrix for 1
any positive integer n. (d) Ei
3. A" will always be a symmetric matrix
for any positive integer n. 13. What is the maximum number of points of
Select the correct answer using the code given intersection of 10 circles ?
below : (a) - A5
(a) 1and 2 only ® 60
b) 2and 3onl
s e (c) . .90
(¢) 1and3only
(d) 120
(d);: 1;2and 3
14. A set S contains (2n + 1) elements. There are
10. If (a +b), 2b, (b + c) are in HP, then which 4096 subsets of S which contain at most n
one of the following is correct ? elements. What is n equal to ?
(a) a,bandcarein AP (a) 5
(b) a-b,b—cand c—aarein AP (b) 6
() a,bandcarein GP (¢)o'ds
(dd a-b,b-candc-aarein GP d 8
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x24+38x x-1 x+3 ; '
15, W | x+1wdnix =4 18. IR A=

xX—=8 x+4 3x

(=)

0
1
0

S =

}, ar 23A3 — 19A2 — 4A frEss

T B ?

(a) WhIfE 3T I TR
(b) e 3% AcEHE HTE

—ax? +bx +cx? +dx +e,

Al e 1 HH T8 ?

(a -1 i g
2:0°0
(b)-. 40 (c) 0250
0 0 2]
(e)y- =l
17:20:2 0]
()2 : d) 1070
0 0 7]

16. If2 Hife 3% U GRS  |eft ofaFa 131 - 1

g DL 19. HIfE 3% Uh CYE A & TR HT 9H 32 |

AR} C, SR A F e TGS H AR 7, A
(a) ¥ 0 C2 % Grfdrs %1 O 91 R 2
(b) TUeh GH HEAT T 3EITH &9 & 0 &l

(@) =3
(¢ U fawm w@en b 9
d 0,131-1 (c) 81
d 729
Qw170
17. A A=|-1 3 0| @ detladj(adid)] |99, w2 A =571 ¥ | &
1 0 1 : k k —2 k +1 :
o R R 2 det(A,) + det(Ag) + det(Ag) + ... + det(A;qp)
forer seT 2 ?
(a) b i
(a) 100
(b) 25
(b) 1000
(¢) 2125
(c) 9900
e v (d) 10000
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x2+3x x-1 x+38] © 100
15. If] x+1 —-2x x-4 . 18. IfA=|0 1 0|, then whatis

x-3 x+4 3x 0 01

3 2
=ax4+bx3+cx2+dx+e, 23A° — 19A° — 4A equal to ?

then what is the value of e ?' : (a) Null matrix of ox"der 3

@) ¢ (b) Identity matrix of order 3
®d 0 , 2 0 0]
: (c) 0:72.°0
{c) =1 0 0 2]
a 2 7 0 0]
(d) 0:-7:0
0 0 7]

16. If all elements of a third order determinant
“are equal to 1 or — 1, then the value of the|19. The value of the determinant of a matrix A of

determinant is : order 3 is 3. If C is the matrix of cofactors of
(a) Oonly the matrix A, then what is the value of

3 2 9
(b) an even number but not necessarily 0 deterpinantef (1]

{a) “8°
(¢) an odd number
®d 9
d 0,1lor-1
(¢) - 81
d 729
2 =1 10
17. FA=|-1 3 0|, then what is the value 90. IfAs= K= k hekioPhik ia
£9% o4 - k=2 k+1]
det(A det(A det(A. .. + det(A
of detladj(adjA)] ? et(Ay) + det(Ag) + detlAg) + ... + det(Ayqp)
equal to ?
5
P (a) 100
g (b) 1000
s A0 : (¢ 9900
@ 625 @ 10000
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Fad 1
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(a)
(b)
(c)

(d)

W& x, yeA ﬁqﬁﬁ%ﬂ wE H A
FAAV/RAR TE RAE 2

1. R W4 (1,4,7,10,13,16} 2 |
2. R WH (1,5,9,13,17) 8 |
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(a)  *Had 1
(b) HaHA 2
13 2
233

(o)
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23. Pefeiaa soEt W Raw Hift -

24,

(8-A)

3 LR
1L =% 95%X22 o o wey
4x, 2<x<8

f U B B |

- S
2. g = {x’ 0<x<4 =ry qfonfve daw

8% A5x<8

g TF e B |
I Sl § @ BAEAER T 2R 2

(a) Had 1
Fad 2
13X 23+

(b)
(c)

@ TM1L,T& 2

Frafafigs suat w famm Hifve .

1. A=(AUuB)U(A-B)
2. AuB-A)=(AuB)

3. B=(AUuB)-(A-B)
S wo Y B

(a) haw 13 2
a2 3 3
Fad 131 3
1,23 3

(b)

(c)

(d)



21. The Cartesian product Ay’-‘é I‘las 16 elements | 23.
among which are (0, 2) and (1, 3) Which of the
following statements is/are correct ?

il It is possible to determine set A.

2. A x A contains the't;l_ement (3, 2). A
Select the correct answer ﬁsiﬁé the code given
below : Fod #Y

(a) 1only o R

(b) 2 only R

(¢c) Both1and2 ¢

(d) Neither 1 nor 2

22. Let A={1, 2,3, .., 20). Deﬁﬁé a relétion R
from A to A by R = {(x, y) : 4x — 3y = 1}, where
X, y € A. Which of the follovstlng statements |
is/are correct ? o E
1. The domain of Ris {1, 4, 7, 10, 13, 16,

2. Therange of Ris {1, 5,9, 13, 17).
3. The range of R is equai to codomain of R.
Select the correct answer usmgthe Eode given
below :
(a) 1only
(b) 2 only
(¢ land2
(d 2and3
DFTK-S-MTH (9-A)

Courtesy: UPSC

Consider the following statements : - ...

(@ " Neithaed or 2

1:- “The reldtion fasfined -'l;y

3 &
flx) = x%, 0<xs2 is a function.
L |4x, 2<x<8

2. The relation g defined by

y =t

* {s'a function.
3%, 4<x<8

Which of the statements given above is/are

correct ?
(a) 1only
(b) 2only

(¢c) Both1and?2

N

5
-

Consider the following st;tements $o2 st
1. ; A= (AU _B;).‘U (A-B)

2. AU(B_—A)=(AQB)_ R

3 .B=AUB-(A-B)

Which - of the; statements given. above are
correct ?

(a) 1and 2 only
(b) 2 and 3 only
(¢) 1and 3only

(d 1,2and3



f(y) A7
&l fly) # 0. I (1) = 0-5, A

206, > T f(x—y):ﬁi—) kal W 7, 28. 1+sin2[cos_1[i]jmwg?

f2) + f(3) + f(4) + f(5) + f(6) foFTH TR 2 ? i %
(a) % (b) %
(b) % (© %
(c) % (d) i—;
) %

29. IR tan (n cos ) = cot (n sin 0), 0 < 6 < g;?h

85in2(9+gjaﬂmw%?
26. 2cot(% cos™ ! ?] foreres sTeR B ?

(a) i:16

(a -1 (b) £2

) A @)l

1

© 3+45 R
@ 8-+5

30. 2Tﬁtanoc:l,sin['}=-1—;0<oc,[3<£,?'ﬁ
7 10 2

. o+ 2B) T HH FT 8 2
27. 3fe seclp — cosec1q =0, & p>0,q > 0; ot B

p2+q 2 HAAFTR ? & _%
(a)-—. 1
3 by 1 %
d) 2
1
(c) % © 72:
1 @ x
i cede
242 B
DFTK-S-MTH (10-A)
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0
f(y)’
where fly)#0. If f{1)=0'5, then what is

25. A  function satisfies fix-y) = 28. Whatis 1+ sin? [cos‘l[—J%j) equal to ?

f12) + f3) + R4) + (5) + (6) equal to ? ) f—i
@ ® =
(b) ;—;- (©) 197
© g @ %
@ %}

29. If tan (m cos 6) = cot (7 sin 0), 0 < 0 < %; then

what is the value of 8 sin? (9 + -;E) 2
26. Whatis 2 cot ( % cos™! —?) equal to ?

(a) 16
1 © 1
© 3++5 @ %
@ 3-45
1 1t T
30. If tana==, sinf=—;0<a B<—,
7 P J10 b=
27. If sec’lp — cosec1q = 0, where p > 0, q > 0; then what is the value of cos (o + 28) ?
then what is the value of p™2 + q~2 ? s 1
2
(@) = 1
1
(b) -—
b 2 V2
1 1
= e —=
(e 3 7
1 1
d — |
2.2 Beng
DFTK-S-MTH (11-A)
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AT 3T AT 7T (02) TV & forg Rt w34, frafafes # @S9 & whwoLn # qa

farem #iforo : 29
FHHRT (1- %)% + (5 -x)* = 82 W fo=ar #ifdm | AL i |
31. et % areafae qeil Y aE w2 b) -o
il
B (c) ®
&g d o
Ke)ard
o 35. GHHULI 3R FHIH-11 % THH qol i we
et 2 2
32. @i % Tt el 1 ATee F R 2 &
a
(b) 12 @ 18
(e 10 d 3

d 6

ST IR A 3 (02) IV & forw Refeae v
ST ST AT # (03) AT F forg Rl w| faem #ifor:

g T fgurd i, @+ b)x2 - (a+b+c)x+k=0
THRO-1: 2% + 222 +22+1=0 3R gr &z e R, SEf a, b, ¢ aTafa® § |

FHIHTI-II : 21985 4 2100 4 1 - 0 W =R Hifdw |

33. THIHI-1 S g 1 § 2 36. ﬁk:%,(c;em,?ﬁmﬁw%tm%:
(@) 1,0, (a) aTEafas 3 THE
b) -1,0,02 (b) aTEdfas N FEHH
© 1,-0 0 (c) drfae afe 3R Faet A a>c
@ -1,-o0-0? (d) |y, | arafas &

DFTK-S-MTH (12-A)
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Consider the following for the next two (02)
items that follow :

Consider the equation (1 — x)* + (5 — x)* = 82.

31. What is the number of real roots of the
equation ?
(a 0
(b) 2
¢ 4
d 8
32. What is the sum of all the roots of the
equation ?
(a) 24
(b) 12
o 10
d 6

Consider the following for the next three (03)
items that follow :

Consider equation-I : z3 + 222 + 22 + 1 = 0 and

equation-II : z1985 4 7100 . 1 — 0,

33. What are the roots of equation-I ?
(a 1,0, 2
b -1,
© 1,-o0 0
@ -1-0 -0
DFTK-S-MTH (13-
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34. Which one of the following is a root of

equation-II ?
(a -1
(b)) -o

© -w?

d o

35. What is the number of common roots of

equation-I and equation-II ?

(a 0
b 3
© 2
d 3

Consider the following for the next two (02)
items that follow :

A quadratic equation is given by

(a+b)x2—(a+b+c)x+k=0,wherea,b,care

real.

36. Ifk-= %, (c # 0), then the roots of the equation
are :
(a) Real and equal
(b) Real and unequal
() Realiffa>c
(d) Complex but not real

A)



37. IR k=c, A GHIH & 9 §

@) a+c b
a+b a+b
a+c b
®) a+b T a+b
c
© a+b
G Pt
a+b

3T AT AT A (03) FIAT F fore FAferfam @
f%waﬁﬁm:

W s

(1+x)°% =1+T;x+Tox2 + Tgx3 + ... =

+ Tox".

38. T, +2T, + 3Ty +... +nT, foras st 2 ?

(@ 0
(b)
(c)

(d)

1
gn

nzn—l

89,1, 1.— Tiot 2T — 8Ty -+ ...+ (~1)°nT, T
SR § ?

(a 0
(b)
(©)

(d)

s 2n—1
n2n-—l

1

40. T, +Ty+Tg+..+T, forash stsr 2 2

(a)-- 2"

(b) 2"-1

(c) 211-1

@ 2% %1

DFTK-S-MTH
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(14 -

T R T T (02) T & forw Referfaa o
f%anaﬁﬁw:

A AT f(x) =x% -1 3 gofix) =x — vx + 1.

41. Trafafga & @ S & gx) F v gwfem
ATH B ?
(@) Jx+1-%¥x+1
(b) Jx+1-9x+1+1
© Vx+1 +¥x+1
@  Fel-Jr«Th2
42. g(15) formsh s ? 2
(a) 1
®) 2
(0 3
d 4

T 3T FI 3 (02) TV ¥ ferw At @
7%?7’(@79’(7:

e e o $eT f, R—(0) W gfenfyg @ 3k
2ﬂx)+f(l] =x+3.
X

43. f(0-5) forEer TU=R 8 ?

1

) =

(a 5

2

b S

(b) 3

(¢ .1

@ 2

A)



37. Ifk =c, then the roots of the equation are :

a+c b
an

(a)

Consider the following for the next two (02)

items that follow :

a+b a+b
Let fix)=x2 -1 and gof(x) =x— Vx + 1.
) i gy b
a+b a+b 41. Which one of the following is a possible
expression for g(x) ?
(¢) 1land -T-b a o
a
(a) JE+l=Hx+1
c
o —1and—a+b b Jx+1-Yx+1+1
N, ¥x+1
Consider the following for the next three (03) ) i
items that follow : @ x+l-WYx+li+1
Let (1 +x)" =1+ Ty x + Tox? + Tgx® + ... + T x".
42. What is g(15) equal to ?
38. Whatis T, + 2Ty + 3T3 + ... + nT, equal to ?
(a) =1
(a 0
b) {2
® 1 w
(¢ 2n (e) -3
() gt @ 4
39. Whatis 1-T, + 2Ty - 3T + ... + -1)"nT,, | Consider the following for the next two (02)
equal to ? items that follow :
(@ 0 Let a function f be defined on R-{0} and
by * g2l 2f(x)+f(l) =x +8.
X
® = ngeel
(d) "1 43. What is f(0-5) equal to ?
@
40. WhatisT; + Ty + T3 + ... + T, equal to ? g
(a) 2° ® 2
3
(b) 2°-1
(elizsal
(c) 2n—1
@ 20+1 L
DFTK-S-MTH (15-A)
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A3 I

44 feaaam:ﬁa% ?ﬁf'(os)%aésm%?

(a)

(b)

[SCRN SR NG Y

(©)i2

d 4

an#an#m#a?(oz)w#%%vﬁwﬁn%ﬁw

faremy #ifsro:
x+1 2 3

TH G fix)=| 2  x+4 6 | gra gftfya |
3 6 x+9

2

45. I8 o SEAE B :

v(a)‘ ———,0} T
(b)

(c)

(d)

46.

DFTK-S-MTH (16
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| o s aret §(02) v & Frg At @

farem #ifere:
e fp 4x2 +y2 = 0.
47. y 1 fehaq AE TR ?
3
(a) 5
@) i3
) 4
d 6
48. xy 1 ATeehdd W w1 8 ?
9
(a) Z
i 3
(b) =
4 .
(C) §
2
d 2=
(d) 3

| omt A are 3t (02) wvAT F fore Referfaa w

ﬁ?ﬂﬁﬁl{’:
Th B f(x) = 1 + sin? x g IRATRE 2 |

49. 39 %o H TR F1 8 ?

(a)
(b)
(e
(@
39 oA I TEdhT T 8 ?

(a)
(b)

(e
(d)

[0, 1]

[, m + 1]
-1, + 1]
m-1,71—1]
50.
2n

n
i
2

I HoAd IHTEdT 3

~A)



44. If f is differentiable, then what is f'(0-5) equal

to ?

(a)

wWin =

(b)

{0 2

d 4

Consider the following for the next two (02)|

items that follow :

A function is defined by
x+1 2 3
Rx)=1 "2 Xx+4 6
3 6 Xx+9
45. The function is decreasing on :
[ 28
a -—,0
w0 [2
[ 08]
b 0, —
(b) bl
et 66
0, —
(c) %3]
i me
d 0, —
(d) %3
46. The function attains local minimum value at :
28
(a) =— —
&8
b)) x=—1
(o) x=0
4.) a
() 3= s
3
DFTK-S-MTH (7

Courtesy: UPSC

Consider the following for the next two (02)
items that follow :

Given that 4x% + y2 = 9.

47. What is the maximum value of y ?
3
(a) 5
(b) 3
(c) 4
d 6
48. What is the maximum value of xy ?
9
(a) Z
3
By
(b) 2
4
(c) §
2
d) 2
(d) 3

Consider the following for the next two (02)

‘items that follow :

A function is defined by fix) = 7 + sin? x

49. What is the range of the function ?

(a) [0,1]
(b) [m,m+1]
(© [n-1, n: +1]
@ lx-Lm-1]
50. What is the period of the function ?
(@) -2m :
(b) =
(c) z
(d) The function is non-periodic
-A)



AT TR TR T (02) TN & foro Referaa o
fararme #iforg:

Tsh Waed (1, 2) § Bt AT 8 3R 3Taehel THiehur

& iyl I TG T B |
dx X

51. 39 Waod 6l Faar w2 2

1
(a) Y——g

Ik
B e
- 3
‘ 1
(C) X——g

1
(d) X—g

52. 39 WATH ¥ ATNEE (ded Yaew) I dars =
22

(a)
(b)

(c)

(d)

2 2 4
54. lim f(x)8® foraeh suax @ 2

x—1

(a) +ab
(b) ab
(¢) 2ab

AT AT T 3 (02) TP & fore Referaa o
7%?7'\'%(’:

= AT fix) = V2-X + 2+x.

55. 39 %eAd &I Tid 941 @ ?

(a) (-2,2)
(b) [-2,2]
) R-(=2,2)
d R-[-2,2]

56. 3H Bo 1 ATUHad I &1 8 ?

(a)
(b)

©

(d)

v3
J6
V8
4

O = N =

T 317 qIA T (02) TN F ferw Referfaa @

7%?7?%’(’: :

x-1 + bx—l

A =2 12

2

fx)-1
g(x)

In(ab)
4

In(ab)
2

53. lim

x—1

(a)

(b)

(¢) In(ab)
(d) 2In(ab)

DFTK-S-MTH

Courtesy: UPSC

3R gx)=x-1.

fore s 2 2

T AT A 7 (02) FEA F forg REfofaa @
f%%maﬁﬁrq.-
M AT fix) = |x| 3N gx) = [x] - 1, &1 [] FgOH
quifeh e R |

T SR hx) = JEE)

g(f(x)
57.  lim h(o ferareh SR 8 2
(a) -2
4B 2L
te)it 0
) a

(18-A)



Consider the following for the next two (02)

items that follow :

A parabola passes through (1, 2) and satisfies the
ﬂ = 2—y,x>0,y>0.
¢ EER <

differential equation

51.

@ y= %

® = %

) x=-~ %

@ x= %
52.

parabola ?

(7 P |

(b) %

© %

@ -;:

'What is the directrix of the parabola ?

What is the length of latus rectum of the

Consider the following for the next two (02)

items that follow :

Let fx) = 7

53. Whatis lim

x—1
In (ab)
4

 In(ab)
2

(a)

(b)

(c)
(d)

In (ab)

DFTK-S-MTH

Courtesy: UPSC

ax 1+bxl

f(x) —

and gx) =

> equal to ?

g(x)

2 In (ab) .

(19

1
What is lim f(x)8® equal to ?
x—1

Jab
ab
2ab

54.

(a)
(b)
(c)

Mlﬁ
o

(d)

Consider the following for the next two (02)
items that follow :

Letfix)= J2-x + (2+x.

55. What is the domain of the function ?
(a (=2,2)
b [-2,2]
(c) -(-2,2)
(d) -[-2,2]
56. What is the greatest value of the function ?
@) 3
b 6
© 8
d 4

Consider the following for the next two (02)
items that follow :

Let flx) = |x| and g(x) = [x] — 1, where [.] is the
greatest integer function.

f(g(x))

Let h(x) = -
® = @)

57. Whatis lim h(x) equal to ?

x—0+
(a) -2
(b)
() O

e |

-1

2K)



5. lim oo Fred wued o s s AT 7 (02) W & forg Frerfre w

faemy #ifero:
(a) -2
2n
b)) -1 4 ' T 1= J' sin4x+cos4xdx
3%
(c)- 0 -2n
1Y
b 61. J(sin4x+cos4x)dx fopeeh SO B 2
0
y (a) 2
AT AR qTet 3T (02) VAT F forw AT oy 8
faram #iferg: o 3
4
k. +a; x<3
. |x-3] (c) %
qH AT fix) = { a—b; x =3 3R
2iis d 3=n
Ix_3I+b; %3 :
. 62. 1 formeh sat 2 2
f(x) Tqd BHT 918U x = 3T |
@ 0
by 1 OR
59. aFHIAA TR ? 3
G
@ =1 2
d
® 1 _() s
ST 17 a3 (02) YA & forw At v
ey a2 ﬁwﬁﬁﬂ,’
d 3 AR
(d) e ftx)z{a.x(x+1)+b, x]
x -1, HEx <2
60. b TH FE 2 63. M HeH fix), x = 1 W FThANT 8, @ (a +b)
T HE TR 2
(a) -1 (a) 1
a e o
3
() e |
B
e © 0
@ 3 ‘ @ 1
DFTK-S-MTH (20-A)

Courtesy: UPSC
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58. Whatis lim h(x) equal to ?

x—0—
(a) -2
(b) -1
© 0
d 2
Consider the following for the next two (02)

items that follow :

+a; x<3
[x-3|
Let f(x)={ a—b; x=3 and
¥-3 +b; x>3
|x-3|

f(x) be continuous at x = 3.

59. What is the value of a ?
(a -1
(b) 1
e 2
d 3
60. What is the value of b ?
(a -1
(b) 1
() 2
(d 3
DFTK-S-MTH

Courtesy: UPSC

Consider the following for the next two (02)
items that follow :

2n
4

-4
Let < J‘ sin” x+cos" X .

13
—-2n

T

61. Whatis J. (sin*x + cos*x) dx equal to ?
0
(a) 3
3n
b it
(b) i
( &
c) 2
(d 3m
62. WhatisIequalto?
a 0
3n
b =2
(b) 1
3n
Y ho i
(c 5
(d 3=n

Consider the following for the next two (02)

items that follow :

ax (x+1)+b,
x -1,

Let f(x) = {

63. If the function f(x) is differentiable at x = 1,

then what is the valueof (a +b ) ? ‘

(21 -4



64. lim f(x) frEeh IR 2 2
x—0 68.
1
(a) o -3—
2
B e
(b) 3
(e)2:0
(d): vl
65. A fix) = |In|x|| & 0 < x < 1, Al £/05)
foraes sqet 2 2
(@ =2
b -1
69.
c)e . 0
(@) 2
66. TR £/(x) = cos (In x) AN y = f(zx‘3],zﬁ %
X X
foreeh SR 2 2
(a) cos (ln(zx 2.2 jj
X
By %sin(ln(zx_3jj
X X
© _§2_ cos(ln(zx—3)] 70.
X X
d - %cos[ln(2x—3n
X X
8n
67. J‘ |sinx|dx e sew B 2
0
(a)"-"2
) 4
() -8
d 16
DFTK-S-MTH (22=A)

Courtesy: UPSC

a

xe [-1, 11 % T, 9 fix) = x|x| @ x-318 A
R &7 1 Srhe R B 2

(a)
(b)
(c)

(d)

Wl |- N W

2
o d%y dg) . .
e THIHT x —5| +|32| +sinx=0
dx dx

$1 HIfe 3 ara shar: =41 8 2
() 3,4
(b) 11,4
(@)= 1122
@ 3,2

y2 = 4a (x — b) TR & Gt Wil &1 Fahel
grfteRtor =T B ?

2
- [f‘l) =0
dx

d2y

(a) Tt

a’y
dx?

d?%y (dy Jz
—— + prcd. N —
dx? dx

(b) =0

=)
dx

y2

|
o

(c)

2 2

dx? dx



64. Whatis lim f(x) equal to ?
x—0 68.
1
(a) = §
2
b)) -=
3
(c): =10
(d)
65. Iffix) = |In|x|| where O < x < 1, then what is
£’(0-5) equal to ?
(a) -2
b)) -1 69.
{e) -0
@ 2
’ 2X -— 3
66. If f'(x) = cos(ln x) and y = f( ), then
sisdy
what is — equal to ?
b
(a) cos (ln(zx " 3))
X
b - % sin[ln(zx - 3)]
X X
(c) % cos (ln(zx <& ]) 70.
X X
d - —32— cos[ln(zx o 3))
X X
8n
67. Whatis I |sinx|dx equalto?
0
(@) 2
b) 4
(€):. .8
d 16
DFTK-S-MTH (23-A)

Courtesy: UPSC

What is the area between the curve

flx) =x|x| and x-axis forx e [-1,1] ?

(a) %
®
(c) i
@ 3
What are the order and the degree

respectively of the differential equation

PRI
x2 28 + (_y) +sinx=07?
dx3 dx

(a) 3,4
(b) 1,4
(@) =272
d 3,2

What is the differential equation of all

parabolas of the type y2 = 4a (x—b) ?

2 2
(a) ﬂ+(91) 20

dx dx
y 2
b — —| =0
(b) +X (d J
2 2
(c) y ( ] =0
dx?
d%y dyj2
d —_— e e ()
i ydx2 +[dx



AT 31 FTet 31 (02) ¥ & forv Refoiaa oy
7%?7?%{7:

HH AT ay, a9, a5... 39 THRAPH & 5

al + 3.5 + alo L 315 + a20 + 3.25 + a30 + 3.34 = 300.

7 fi 1% al o a5 e alo = 3.15 G a20 = 325 + a30 + a34

foress sUet 8 2
(a)
(b)
(©
(d)

0
25
125

250
72.

900
1025
1200

(d 1275

T 3T qTet 3 (02) T & ferw Rt w
7%?7?5@7%’(7:
11I'l¢[?ﬁ'%|"lp=cos(E

o)

()

p+q%h AH TR ?
1

2

= COS (':4'1‘.['
9 5

73.

(a)

1

bls o
(b) 1
(c)
(d)

0
2
2

74.

1
(c) Z
1

(d)

Frk

6

T 317 qIe 31 (02) I & forv Ao o
7%?7?%’(’:

W?ﬁﬁl‘Qp:%—

tan 3x
tanx

q=1-3tan?x, D=x <1, x¢g.

75. pq fHash ST B 2
(a)
(b) 2
8

© =
v dn

(d)

w | oo

76. x % fohad WA & forg % I B AT R 2

foreft 7T 6 fore &l
% Th HH & fo1g
*dd gl 7Mo% g
Fad o 7T & fog

(a)

(b)

(c)

(d)

DFTK-S-MTH

Courtesy: UPSC
4
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Consider the following for the next two (02) |74 What is the value of pq ?
items that follow : - k3
16
Let a,, ay, ag ... be in AP such that
a;+ ag + a1 + a1 + a9 + ags + agg + agy = 300. (b) L5 %
71. Whatis () %
8 + 85 ~ a39 —~ 835 — B9y~ Aggrt Agg + Agy
l1to ? (d) -
equal to ? 16
(a0
(b) 25
© 125 Consider the following for the next two (02)
items that follow :
(d 250
ot 1 tan3x d
34 3 tanx
72. What is Z a_ equal to? B
iy q=1-3tan?x,0<x <7, x# —.
= 2
(a) 900
75. What is pq equal to ?
(b) 1025
© 1200 (@) 1
@) 1275 (b 2
. . 8
Consider the following for the next two (02) () 3
items that follow : 3
Let p = cos (E) cos(2—n) and q = cos (ﬂjcos(s—n). ‘) 3
5 5 5 5
73. What is the value of p + q ? 76. For how many values of x does i become
p
il 2
(a) Eis Zero !
2
1 (a) Novalue
b) - <
(b)  Only one value
(e)- 0
(¢)  Only two values
1
(d) 1
(d) Only three values
DFTK-S-MTH (25-A)

Courtesy: UPSC —
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ST T aTet 3 (02) FEAT & fere et
@Wﬁﬁﬁl‘(’:

Waclﬁl'Qsinx+siny= Jg(cosy—cosx);

x+y—£ i< x y<E
2 L

77. sin 3x + sin 3y %l A T 8 ?

81.

(a -1
b 0 82.
(e): A
a 3
78. . cos® x+cos3y7=Fl1THW% e
3V3
(a) T
b 306
8
83.
(c) ﬂ
4
(d): &1

ST AT T 3 (02) T & forw et
ﬁwaﬁﬁz{:

T AT ABC % I A, B 3R C 303: 3:5:4 %
I H B |

79. a+b+ J2c 1 A fohEeh sqET B 2

Courtesy: UPSC
A

84.
(a) 3a
(b) 2b
{c)sx=3b
(d)=72¢
80. a2:b2:c2%aaagqmﬁ§?
(@ 2:2++3:3
by 2:2-~8:2
(6): +:2:2+ /3 :2
@ . 2:2-43:3
DFTK-S-MTH (26-A)

I y2 = dbx h f=ar &1 wfiwr = B,
T b<03Mb2+b-2=0?

@ x+1=0

b x-2=0

© x-1=0

@ x+2=0

g (—a,-b), (0,0), (a,b) 3R (a2, ab):

(a) U & ga W feua &

(b) TH I % ¥e-fog &

© UH Uik wqys st f5 ot 4 R, &
wfid-forg &

d) e

feam mm ® % 16p? + 49q% - 4% - 56pq = 0.

frafafea & & S99 T, @t W@ielt & 3|
(px+qy+r)(px+qy—r)=0q1faﬁﬁ§%?

/f
(a) (2’ E)

7
(b) (Z"E)
e 4,-7
(d) {4,

e g9 x2 + y2 - 25 = 0 H TH S H
G 3x +y - 5= 0 B, Al Sia % AeAfog &
frdare & 2

ol
(a) (‘4—, Z)

3ok
(b) [—2—, 5)

3 1
(C) (Za 53 Z)
(d) [ )

’

N | o
DO | =



Consider the following for the next two (02)
items that follow :

Let sinx + siny = /3 (cosy — cosx); x + y = —g—,
T
0 ,y< —.
<X,y 2
77. What is a value of sin 3x + sin 3y ?
(a -1
(b) 0
(C) el
(dy =3
78. What is a value of cos® x + cos® y ?
3J3
(a) 3
3J6
b SN
(b) 3
@ 8
4
(d): 1

Consider the following for the next two (02)
items that follow :

The angles A, B and C of a triangle ABC are in the
ratio3:5: 4.

79. What is the value of a +b + v/2 ¢ equal to ?

84.
(a) 3a
(b) 2b
(0 3b
(d 2
80. What is the ratio of a® : b? : ¢ ?
%) 2:2+ 8 :8
B 2:2-.J8:2
(&) 2:2+ 872
d 2:2-43:3
DFTK-S-MTH (27-A)

Courtesy: UPSC

81.

82.

83.

What is the equation of directrix of parabola
y2 = 4bx, whereb< 0 and b2 +b-2=07?

(a)
(b)
() x-1=0
(d)

x+1=0
x-2=0

x+2=0

The points (- a, — b), (0, 0), (a, b) and (a2, ab)

8re .
(a)
(b)

(¢) vertices of a parallelogram that is not a

lying on the same circle

vertices of a square

square

collinear

(d)

Given that 16p? + 49q% — 4r®> — 56pq = 0.
Which one of the following is a point on a pair
of straight lines (px + qy +r) (px +qy —1r)=0?

7
(a) (2’ E)

7k
(b) (2, _5)

© (4=

d 4,7

If 3x + y — 5 = 0 is the equation of a chord of
the circle x2 + y2 — 25 = 0, then what are the
coordinates of the mid-point of the chord ?

o (3
v (33
0
e

wlc.o .ploo
vhlr—l
p SRS

I\DIH
Nl



2

2
85. Tty 24X_k+ky16=2 % ued U|87. IO 4x® + 4y —dax —day + a2 = 0 F G §
< frafafiga weEt w e #ifte

frefafas w faar :
i 1. ¥ 9 M1 & i e Hr R |
1. ¥ gefter defga @ g s € ok 2. 39 99 % A 2a B |
k=19, 3. Wiﬁﬂ%ﬂ@x+y=a“ﬁﬁ%l
2. I8 GHiR fdwaer ® el war & STtk oAl ¥ Read Tl § 0

fe k= 12. (@) ¥ T
3. U8 wfiew g9 @ Frefia s & af (b) e &
k = 20. (c) Tt &=
39 HeEl § § fpad wdt § 0 (d) g ot 7&
(a) had TH 88. k% foh Al & forw Yt
®) k-3)x-5-k?)y+kZ2-Tk+6=0,
%@Tx+y=1a€m%?
(C) H"ﬁ?ﬁq (a) _1’1
(@ i oft T Nl
(c) dl,—2
@ 2,-2
86. sy x2 % y2 -1 % wey ﬁ89° Wx+y=4,P(—1, 1)3ﬂTQ(5,7)3ﬁ\ﬁ3ﬁ
cos?0 sinZ 0 areft W1 %I R W Hedt 8 | PR : RQ e
frferfaa woF w famm Hifse R 2 2
1. 3 BeE 08 TaT & | il i
: (b) .1 +2
2. Ichgdl secOB | © 2:1
3. 2 BrE A B gl 25E B | S

ot & & fad Wl & 0 90. U Ul W@ & sia-wel F At @ R e
o ! e g 3 3 30 4 g 4 o i
(a) had TH g-aaaﬁwmﬁm%m15°wmm
?
(b) HaA QA e
() aft 4= (b) 46
() 846
(d) ot
b i @ 16
DFTK-S-MTH (28-A)

.Courtesy: UPSC



85. Consider the following in respect of the
2 2
: y
equation + =2
y 24—k  k-16
I The eqﬁation ‘represents an ellipse if
k=109:
2. The equation represents a hyperbola if
k=12
3. The equation represents a circle if
k=20.
How many of the statements given above are
-correct ?
(a) Only one
(b) Only two
(¢) All three
(d) None
86. Consider the following statements in réspect
= y2
of hyperbola e 5 = i B
cos“ 0 sin“ 0
1; The two foci are independent of 6.
2. The eccentricity is sec 6.
3. The distance between the two foci is
2 units.
How many of the statements given above are
correct ?
(a) Only one
(b)  Only two
(¢)  All three
(d) None
DFTK-S-MTH

87.

88.

89.

90.

Consider the following in respect of the circle
4x? + 4y® —4ax—4ay +a2=0:
1.  The circle touches both the axes.

2 The diameter of the circle is 2a.
3. The centre of the circle lies on the line
X+y=a.

How many of the statements given above are

correct ?
(a) Only one
(b) Only two

(¢c) All three
(d) None
For what values of k is the line

k-3)x-(5-k%)y+k2 -7k + 6 = 0 parallel
tothelinex+y=17?

(@ -1,1
b)) -1,2
(e 1,-2
@ 2,-2

The line x + y = 4 cuts the line joining P(-1, 1)
and Q(5, 7) at R. What is PR : RQ equal to ?
()l

(b): -2
(c)we2:
(d):- 218

What is the sum of the intercepts of the line
whose perpendicular distance from origin is
4 units and the angle which the normal makes
with positive direction of x-axis is 15° ?

(a) 8

M) 46
(¢ 846
@ 16

(29-A)

Courtesy: UPSC :
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91.

92.

93.

DFTK-S-MTH

Courtesy: UPSC

afew 2i +3] 2k maRm i +2] +3k ¥
T&Y I A TR 2

(a)
(b)
(c)

(d)

ﬁ'm ﬁlm ﬁ’w ﬁl._a
~ 3 3 =3

AR (3 x b )2+(a . b)? =144 3R
b | =4 |2 | FAARIE?
(a 3

(b) 4

() b

d 6

If aRewi 2 3 b H & W B 0 3@
R e 2. b >0 @ fefafed § A
HH-91 T TEl 8§ ?

(b)
(e 0<06<

d 0<6<

94.

95.

(30-A)

A » A A A A A
afew 60i +3j, 40i -8j 3 Bi - 52j

W g 90

(a) B=20

b) PB=40

© PB=-40

@ PB=26

afest @ =0,1, 1) 3R b =(1,0, 1) F Fexf
frffaa o fRem St

1. EE WRE S & R b 2 W E &
- o T A T 7 |

2. sqaﬁsﬁ%diawﬁwgﬁ

I Herl B ¥ BA-AVEAD T A 2

(a) had 1

(b) Had 2

(¢) 13 23M

(@ TM LIS 2

s @ L e o ogua <3,-2,6 > 2
AR IE(1,-1,1) F R oA 8 | LA
fagatt & facwms @ &, &t (1, -, v A gl

2FHER?

@ (_E,E,Ej@x(lﬁ,éj
- 779 ; ke

) (_1_9,_11’1_3_) ﬁt-(_l,é’;é)
// Vel TSR |

(©) [2’1_1,1_9) 3 [_}_’_ﬁ,ﬁ)
Y A g Y BT G

SR T
/i oot YAy G |



P A A A A
91. What is the length of projection of the vector |94- The vectors 60i +3j, 40i -8 and

A A é i ; A
i +23'\ + 3k on the vector 21 +33'\ _2k ? Bi —52] are collinear if :
@) 1 (@) B=20
V17 (b) PB=40
2
by — (c) =-40
J17
d p=26
3
(c) e S
4 95. Consider the following in respect of the vectors
_)
W 2 2 =0l me B =(10,1:
J14

1 5 The number of unit vectors

- e
perpendicular to both a and b is only

one.

=y €y =y —
92. If(a xb)*+(a .b)*=144and | b | =4, e
2.  The angle between the vectors is i

then what is the value of | & | ?

Which of the statements given above is/are

@ 3 correct ?
(b) 4 (a) 1only
o5 - 8 (b) 2only
(¢c) Both1and2
d 6
(d) Neither 1 nor 2
96. If L is the line with direction ratios
_)
93. If 6 is the angle between vectors ; and b <3,-2, 6> and passing through (1,-1, 1),
such that —a) A B’ > 0, then which one of the then what are the coordinates of the points on

Hillowieiad ¢ 9 L whose distance from (1, — 1, 1) is 2 units ?
ollowing is correct ?

@) (_H 13 E) and (1 3 é)

(a) 0<0<nm bl B i |
18511 13 18 8
It‘ b (_1__’—'J d(—_,_’_—')
® Zsosn et E e e R
<< T (e) (1_3. H E] (_l é é)

(C) 0_6_5 7) 7: 7 7, 7,7
2 18 - 11 19 18" B
E d _1__)__) d(_,__y__"j
(d) 0<9<2 (d) (7 T an G g

DFTK-S-MTH (B1iA)
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97. ng y:” o 2;4 ¥ THR B
T HHAA § ?
(a) 2x+2y+z-1=0
(b) 2x-y-2z+5=0
() 2x+2y-2z+1=0
d x-2y+z-1=0
98. RN 2x=8y=-2z3Nbx=—y=—4z % &9
ST IV T 8 2
el 05
(b) 30°
(@)= 602
d 90°
99. W T W wWieW w3 S Mo
x2+y2 +22 _2x—6y—82-5=0 % Gohgl &
3R Frdwr-ga-fag & e o @ 2
(@ x2+y2+22-2x-82=0
b x2+y2+22-2x-6y=0
(0 x2+y2+22-6y-82=0
d +y?+22-2x-6y-82=0
100. fomgati A1, 2, 3) 3R B2, 10, 1) HI Se ATl
W R fag PR | I P MG 7R, @
30 I g1 FACIITeR] T INTHS T 7 2
(a) -15
§ ) e
(0 -11
@ -9
DFTK-S-MTH
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101.

102.

103.

104.

(32-A)

10 3R 20 # ¥ n G&A13 & faaedl & ATHA
A p 3 q & | I (p - @)? = 10000, @ n H
HH R R ?

(a) 10
(b) 20
(e 50
(d 100

aﬁ 10 ﬁmﬁ X1, X9y «ey Xlom Y )_( =20 %;

10
ar z (3Xi_4J 1 O H= L 2
i=1

5
@ o0
(b =12
(¢) .12
(d) : "1012

Ife 10 Y&l w1 Hqeq IR T BT ATHA HAL:

40 3R 16160 &, A A faaeH 1 8 2
(a) 16

(b) 6

© 5

@ 4

@ 9rEl e SaT 8 | UE AN 3T
1 TTRehar & St U of & @l 2

3%

108

5
108
19
108

23
108

(a)

(b)

(c)

(d)



101.

102.

103.

104.

97. Which one of the planes is‘parallel to the line
B4 ¥Y-3 F5% o
3 4 5
(a) 2x+2y+z-1=0
b) 2x-y-2z+5=0
(¢ 2x+2y-2z+1=0
d x-2y+z-1=0
98. What is the angle between the lines
2x=3y=—-zand bx=—-y=-42?
&y =02
(b) 30°
(e) - 80°
@ 90°
99. What is the equation of the
sphere  concentric =~ with  the sphere
x2 + y2 +zz—2x—6y—8z—5=0andwhich
passes through the origin ?
@ x2+y2+22-2x-82=0
b x2+y2+22-2x-6y=0
(c) x2+y2+z2—6y—8z=0
@ x*+y2+22-2x-6y—82=0
100. A point P lies on the line joining A(1, 2, 3) and
B(2, 10, 1). If z-coordinate of P is 7, what is the
sum of other two coordinates ?
(a) -15
(b) -13
() -11
@ -9
DFTK-S-MTH
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(33-A)

The sum of deviations of n numbers from
10 and 20 are p and q respectively. If
(p — @) = 10000, then what is the value of n ?

10
20
50
100

(a)
(b)
(c)
(d)

X = 20 is the mean of 10 observations

X1, X9, .., X109, then what is the value of
10
3x. -4

i 2
> (=)
i=1
(a 0
(b) 12
(e)> =112
(d) 1012

If the mean and the sum of squares of
10 observations are 40 and 16160 respectively,

then what is the standard deviation ?

(a) 16
(b) 6
(0 5
d 4

Three dice are thrown. What is the probability
of getting a sum which is a perfect square ?

17
108
5
108
19
108
23
108

(a)

(b)

(c)

(d)



105. A, B, C 3R D W&R 3gasi iR 99 weand

106.

107.

DFTK-S-MTH

g | A 2PA) = 3P(B) = 4P(C) = 5P(D), Al
77P(A) TorTeh sTeR 2 2

(a) 12
() 15
() 20
(d 30

18 9% H Teel § § 3 i gaqel demd
aigless &9 | ot St & | F@ Wik ® 6

3T UFHS | IS A H 18 2
(a) %
) ;713
() %
@ 3%

3 U™ %k T B | 39 STd ol w1 WiRiehdT &
fop 37 W 1 Ireft west %1 3w 237 38 2

(a) %
/4

(b) 18
5

(c) ﬁ

11

A
(d) 36

Courtesy: UPSC

&

108. &S 1, 2, 3, ..., 10 I HIEY FT & FFeh!

109.

110.

(34-A)

SRERATE S68: 2C¢, °C,, 9C,, ..., 9C, & ?
(a) 1-1x28

®)  12xT*

(c) t1i5:5

(d 055

T At & et sfimrd & s B9 <t wiRiwar
0-8% | 38 aTd <l =1 WiReha & 6 5 =aferat &
¥ T 2 =t 39 S & S & 9 2

(a) 0-00512

(b) 002048

(c) 02048

(d 0-0512

A T T T T g WA F GE T GTE
2, W feoma gt & o 7 & | o %
el FN h HWEE 10% @ | AR fwmw
AUl R A W % TR EWE 95% B,
AT Ig FHET 45% & | AMG W &7 I R,
A @ i 2 % v gt et % s
gAR ?

(a) 010
(b). . 0-19
() 045
(d 095



105. A, B, C and D are mutually exclusive and |108.

exhaustive events.

If 2P(A) = 3P(B) = 4P(C) = 5P(D),

then what is 77P(A) equal to ?

(a) 12

(b) 15

(e 20

@ 30 109.

106. Two distinct natural numbers from 1 to 9 are

picked at random. What is the probability that
their product has 1 in its unit place ?
@
® o
(¢ % 110.
@ o
107. Two dice are thrown. What is the probability
that difference of numbers on them is 2 or 3 ?
(a) %
OREC
© =
@ =
DFTK-S-MTH (35-A)
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What is the mean of the numbers 1, 2, 3, ..., 10
with frequencies 9Cy, °C,, 2C,, .., 2C,,

respectively ?

(a) 11x28
bl PEx
(e 55

(d) 055

The probability that a person recovers from a
disease is 0-8. What is the probability that

exactly 2 persons out of 5 will recover from the

disease ?

(a) 0-00512
(b)  0-02048
() 0-2048
(d) 00512

Suppose that there is a chance for a newly
constructed building to collapse, whether the
design is faulty or not. The chance that the
design is faulty is 10%. The chance that the
building collapses is 95% if the design is
faulty, otherwise it is 45%. If it is seen that
the building has collapsed, then what is the
probability that it is due to faulty design ?

(a) 010
(b) 0-19
() 045
(d 095



111. AR x 3 y ¥ o9 wegew e r R, @118, IR @9 sews °c,, G, 3k Vo, =

: L gt 270
(3x + 4) 3N (- 3y + 3) % T HEEaY oM FA1 mm@rﬂ%,a‘f—}?mmw%?
b 4
T (@ 1
14
(a) T (b) ﬁ
(b) r 17
(c) 11
(© J3r 1
@ =
31
;) P B

114. U H&1 § n OF 3 fo o6 P 3 Q oft wfa
# | aft ¥ agfes® v @ fuifa 6t 18 &, @

=11 TfeRar & 7 P 3l Q U @1y 93 2
(a) l
n
(b) %
112. T IANFG e H 6 9 ITTN I 2 | W ;
(e) =
a7a 61 w1 TkeRar & 6 93 I8 1 qiomy -
1
fih:
g Ut IBTe § red gRommt | fire a2 2n
(a) 17—6 115. U fg9g &e4 # B(n, p), n = 6 3R
1 9P(X = 4) = P(X = 2). p ferueh sTeR 2 2
B ge o
1 Gl 4
(e —
32 1
=
1
@y &
64 3
(c) 1
4
e
DFTK-S-MTH (36-A)
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111.

112.

DFTK-S-MTH

If r is the coefficient of correlation between x
and y, then what is the correlation coefficient

between (3x + 4) and (- 3y + 3) ?
(a) -r
(b) r

© 3r

d -+3r

A fair coin is tossed 6 times. What is the
probability of getting a result in the 62 toss
which is different from those obtained in the
first five tosses ?

(a)

(b)

(c)

(d)

Courtesy: UPSC

113.

114.

115.

(g aK)

If H is the Harmonic Mean of three numbers

1004 ; 1005, and 1006, then what is the value
270

of — 2
H
(a). 1

14

(b) 17

17

(e) ﬂ

X

d ., %

(d) 31

In a class, there are n students including the
students P and Q. What is the probability that

P and Q sit together if seats are assigned

randomly ?
(a) 2
n
o
n
e o
n
1
d hig
(d) o

In a Binomial distribution B(n, p), n = 6 and

9P(X = 4) = P(X = 2). What is p equal to ?

(a)

(b)

(c)

(d)

QU B N B



AT AT AT i (05) T & ferg Aefofaa v
ﬁanaﬁﬁw:

f sie®t P, Q, R 3R i wiefHai S, T, U Sl &
TfEs Bl % fore dftrag fomam T @

116. 1 UTfehar & 6 i1 wrss wh @1y &3 ?

(@) %
) %
© %
@ %

117. 1 TRehar & & ae% 3R wefFal Twia &9
g3 ?

(a)

(SRS

e

(c)

| o

(d)

3| =

DFTK-S-MTH (38-A)
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118.

w1 WAl B 6 18 oft 3 sl whay T
I3 ?

(a)

ol o

3

b bt

(b) E
() —

(d)

119. 1 Ut & 76 P 3R Q H1 B W &S 2

(a —

(b) .58~

14
(c) Tg

i
(d) 1

120. 1 ekt & 3 Q 3 USHI wh w1y &3 2

(a)

oo

(b)

|-

(c)

o | o

(d)

o | =




Consider the following for the next five (05)|118.

items that follow :

Three boys P, Q, R and three girls S, T, U are to be

arranged in a row for a group photograph.

116. What is the probability that all three boys sit

together ?
(a) % . 119.
iy
1
(c) 5
1
d ok
(d) 13

117. What is the probability that boys and girls sit

120.
alternatively ?
(a) %
) %
© g
o) %
DFTK-S-MTH (39-A)
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What is the probability that no two girls sit

together ?
(a) %
) g
© -1%
) %

What is the probability that P and Q take the

two end positions ?

(@) %
(b) 173
(© %
@ i—;

What is the probability that Q and U sit

togefher ?

(a) - ;

® 3 :
(c) g

@S
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has lieen given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
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